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QUESTION 1

Which Python operator tests two variables to see if they contain the same value?
A l=

B.l==

C.==

D.

Correct Answer: C

Reference: https://www.programiz.com/python-programming/operators

QUESTION 2
Click the Exhibit button.

What is the final output produced by the Python commands shown in the exhibit?

>>> a = list ()
>>> a.append(2)
>>> a.append(4)
>>> a.append(6)
>>> b = a

>>> a(0) = 5
>>> b

A.[5]

B. [5.,4,6]
C. [5,2,4,6]
D. [2,4,6]

Correct Answer: D

QUESTION 3

Which development model is the classic approach to software development?
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A. Waterfall

B. Scrum

C. Kanban

D. Lean

Correct Answer: A

Reference: https://searchsoftwarequality.techtarget.com/definition/waterfall-model

QUESTION 4

Which statement is true regarding Python?

A. To obtain functionality from a package, it must be imported using the Python keyword module
B. A Python set is an ordered collection of unique elements

C. Python 3.x is not fully backwards compatible with Python 2.x

D. An object within a Python tuple can be modified

Correct Answer: C

QUESTION 5
Click the Exhibit button.

Which YAML form is represented in the exhibit?

— MX
— QFX
— SRX

A. a mapping
B. a set

C. atuple

D. a sequence

Correct Answer: B
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